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PART -1
ARITHMETIC : 40 Marks

Instructions : Each question under this part carries ONE
each question carefully and answer them by selecting the right one out of the

multiple answers given below each as A, B, € &D.
There shall be negative marking @ 0.5 mark per question for wrong/multiple

mark. Please read

answers. \
w0
1. Sumthe series40+ 39+ 38+ ......... +11. ,.Oﬂq
404394384 oo + 112Q6AQ CAISIER 6860 7 2
(A) 775 @}465 (C) 820 (D) 780 \/l

2. If the area of a triangle is 250m’ and the ratio of the base and the height is 4 : 5.

then find its height.

03 caIfv §Qeq cagaR 250 o4 A Ye* QIR Qfi 6 G0/ 2QaI9 4: 5 g9
6060 YQIQ GRO! 6960 ?

(A) 30m (B) 24m (wn (D) 20m

3. The length of a rectangle is increased by 25%. By what per cent should the width
be decreased to maintain the same area ?
6oV 21006890 cadiQ @eeel 25 98 QQIAIY | YQIA GA]Q E9Q9! Eaee 98
Q6R C8QTR AAIe @Qe 7

1 1
(A) 25% (B) 22;% ‘ (C) 335% JD‘YZO%

4. The diameters of two concentric circles are 14 cm and 12 cm. The area of the
region between them is : ,
ancee 846 aF 9aQ 1A QIR 14 6af. 6 12 6a4. | CANIPE AR &9
680Q CHQUR €60 7 »
&) 131 cm’ (B) 52& cm’ (C) 4m cm’ (D) 8w cm’

5. The volume of a cube is 512 cn’. The total surface area of the cube is :
e 2AA0Q PR 512 QP6aS. | €969 QIR dAg JRORQ CHYTR CQEQ ?
(A)294em’ | (Br384cm’ (©729cm’  (D)486cm’

6. A solid piece of iron whose length, breadth and height are 44cm, 42¢m and 21em
respectively is moulded into a sphere. The radius of the sphere is :

44 ¢af. 0T, 42 ¢afl. 98 6 21 ¢af. eQl F8& ¥Q &3
3 " g 08 QQ
a6 RIRRGR 0RO0 QAUAIY | €069 CAIRAEQ MIAIT ¢aco 2 b b

49 ‘
S (G AHem (D) 35em
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Lv‘:xrqf}\* [\QTQ (ﬂu’gﬂf?)

nERrEa . (@) @49)
(A) 1 (B) 2V15 (C) 16 LQ)’S, ,}3./)
~p 2} - 268) - (@)
8. Ifa:b=2:3,then find (5a—2b): (a+ 3b) kS ]0,/{6 1 9
G@a:b=2:3<.g‘0.6@6@(53—2b):(al+3b)€96@'? e o ‘
(A4 1] (B) 1:1 (C)8:2 (D) 11:4
9. 27% x \E+81‘2—1 =2
(A) 27 \ (BL&+ (C) 1 (D)9
10. Which of the following numbers is a perfect square number ?
FARGe awMIaIRE AM1Q el caIdY qded ani ?
(D) 0.004

11.

12.

- 0
o o

14.

:.2021/C

n ner

(A) 0.036 (B) 12.1 Ly56

What is the smallest number by which 10976 must be divided to make it a perfect

cube ?
caa §QOA et QIQI 10976 § QIS QER SIQ! 6aIS gdae Qe cRIRAIAR ?
(A) 7 (B) 8 (C) 2 (Dy4

If 11 eggs are bought for Rs. 10 and 10 eggs are sold for Rs. 11, what is the

percentage of gain or loss ?
(B) 21% loss

A 21% gain
(D) 20% gain

(C) 20% loss
a6 10 oaicq 11 & 24 R6191Y 6 11 @I6q 10 & AQ §F QQUAIY, €960 F9RY!

€960 Ala @ 86 699 ?

(A) 21% @UQ P21 % a6
(C) 20% 89 (D) 20% MK

10 examiners can evaluate 2000 answer sheets’in 8 days. In how many days,

examiners can evaluate 3000 answer sheets ?
10 @8 a9UEa 8 Gaca 2000 6IQl Fmilak @QCJiQ% | 6069 12 @8 ANE CQEQ

@R6Q 3000 ¢lIQI Fm1lae la5][a8 ?

(A) 135 days _Brifdays.. - W)’S (D) 15 days

How many numbers up to 400 are divisible by 5 and 7 together ?
400 078 6Q6oI6 Qs @QG 5 ¥9° 7 QA QAR 26Q ?

(B) 12 _er 0

12

(A)9
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15. The difference between 90% and 75% of a number is 225. Then find out 82% of
the number. ’
CAITY QUMNIQ 0901 90 Ye° A0RVI 75 FHMeq 21Q0 225 A | 606 deMICQ
Qo@0! 82 €@CO 7

(A) 1500 (B) 1200 (C) 2250 (D3A4230
o
6. fA:B=4:5andB:C=7:8, thenfind A:C (
00 A:B=4:59°B:C=7:8,6060 A:Cca60 7 -
(A)F:10 (B) 10:7 (C) 5:35 D)32:35 ¥ _©

z £
17. What is the smallest number which should be added to 7200 to make :?Pi.;

perfect square number ? '1>
7200 6Q €0Q §RON QeI €TIT QER CAINTR I Qded Qe 6@ ?
(A) 50 B75 (C) 196 (D) 15 f

18. The ratio of two numbers is 5 : 6 and their H.C.F. is 6. Their L.C.M. is : '
QA% aWNIQ AQAIS S5 : 6 B CANIPER G.4I.Q. 6 JET | €06 @dl QWA AL

€60 ?
(A) 60 (B) 30 (1480 (D) 90
19. 1f2of = of — of a number is 270, then 40% of the number will be :
a8 caIdY AMIQ —Q 2Q2QAIR 270 QU. 6969 CAT @A BRI 40 63EE
699 ? _
A) 135 B) 108 C) 810 D) 324
(A) 135 (B) (©) (D).3;
20. Three numbers are in the ratio of 3 : 4 : 5 and their average is 36. The largest
number is :
ScRIT eNIq 2QAI0 3 : 4 : 5 G CAAIREA AARIQ 36 AT | CO6Q 9@ ATMIT
6969 7
~ (A) 36 (B) 27 (C) 54 D45
21. What is the smallest number which when decreased by 5 is divisible by 16, 24. 30
and 327
€ed 820A A°BNIQ 5 TEAYT QER JCUATR 16, 24, 30, G 32 QG QUM €99 7
5 4 | &
22. FinddncvalucofJ-—J: Y,
X
f = J' Q RN €Q6Q ? 2\
1
(A)-—— (B)—2= (C) 1 (D) =
CRE-2021/C PT.O
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23. If a’ + b’ = 80 and ab = 32, then find the
4 »
& ( be determined
.rLM \{% (D) can no
1
v ad a® + b? = 80 ¥e° ab = 32, 696@ - + 3 66T 7
- (A) 3 (B) 2
D 4
©) .:i (D) ﬁ Qe QR Q\Q
> S"‘ O
T % of boys and 50% o
g_-na 24. In an examination, there were 600 boys and 4?0 lﬁgl; gp7e0 Y
girls passed. The percentage of candidates that fai
° g0QQl 50 QRN
Ve aaIsIsq 600 QIR Ye° 400 QAR dem | §19@9! 60624932@ e
AQIBICR QA 6R6R | 6o6R F9a0I 6@ gial 6o 62 "
L (A) 50% (B) 55% (C) 40% i
25. The average age of 10 students and their teacher is 20 years. If the t::f;lcher“)s ag
: is excluded, their average age reduces by 2 years. What is the teacher’s age
y..i 10 961 219 G cARIfeR dasa QAR @ad 20 eF | 40 JEeeq QaAg <
N1 QuAIN. 6e6e caripan QIR 9ad 2 oF @AAIY | 6960 FEREA QA 6REE ?
L)Q years (B) 44 years (C) 30 years (D) 35 years
26. If4A=5B=6C, thenfindA:B:C
(A)6:5:4 ~ (B)12:10:8
\(_9)/1'5 242: 10 (D) None of these
€3G 4A =5B =6C, 6068 A : B : CER6Q ?
8 (A)6:5:4 | (B)12:10:8
1_ (C) 15:12:10 | (D) VAR AANQ 60016 Q6@
27. "A’ starts a business with an investment of Rs. 2 ,500. Seven months later,
joins with A’ as a partner. After a year, the profits are divided in the ratio of °
How much did ‘B’ contribute ? ' )
A’ 2,500 0@l 98 G646 9@ Ve AL, 2 ¥R | AP Ald aea ‘B’
FNAQ Q6o A’ A calel QUG | AITY oF Gca ARG 3 : 4 2AQAI96Q
QuIAIY | 696Q ‘B’ 6REQ J8 0648 Q6m |
B (A) Rs. 10,000 (B) Rs. 12,500
). (C) Rs. 7,000 ' ()RS, 8,000
;'(r‘or:"m-nm ﬁ - 1'§—bb i

1 1
e value of & + b

n ner
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28. A watch is sold for Rs. 770 at a loss of 30%. For how much should it be sold 10
gain 20% 7

6aIGY QIQ 770 GEI6Q AQ QA A0R0! 30 §F QU | 6869 QIS 6960 Paicq Q
QER 90Q0! 20 AIQ 6997

(MRs. 1230 BIR 1320 (©Rs 1000 (D)Rs. 1,110

29. ‘A’ can finish a work in I8 days. ‘B is twice as efficient as ‘A"
together, in how many days, the work will be completed ?

(A) 6 days (B) 9 days
\’C/)?Z days (D) None of these

‘A’ 6618 Qafg 18 GRca FAQIER | ‘A’ U6a8l ‘B’ QaQ6l @8 | 98 canicq
Qaioq Vel QIR 2107 998, 6969 6960 Gaca RIETE caa g |

(A) 6 days (B) 9 days

(C) 12 days

It they work

(D) YAIRE A4Q 6066 Q6

30. A cistern is normally filled in 6 hours, but it t
of a leak at its bottom, If the cistern is full, the
(A) 12 hours (B) 24 hours

\_(9/]8 hours - (D) None of these
G159 98 AkIeees 6 aaiea ad Qu. G4 vaia Areisca g0 8ol QIeeQ vg! ad

akes 3 hours longer to fill because
leak will empty it in :

629l Q1A 2R 3 QQl ARG, AIGE | 98 Q46 adelv. €oce 896 cace anace 0QI9
¢IA 609 ?

(A) 12 hours (B) 24 hours
(C) 18 hours

(D) YAIRG FIRNQ 67616 Q6Q

31. A 150 metres long train passes a bridge at rate 90 kmv/h in 20 seconds. What is

the length of the bridge ?
(A) 500 m \(BL350 m
(C) 650 m

i (D) None of lhesé

150 A6 3 Q8 ca1T 630 Q@ 8B 90 4. cosiea OF @ caldg caIRg 20
CA6QQER AT 96Q | €669 6aINGR CTa 6qee ?

(A) 500 m ~(B) 350 m
(C) 650 m (D) WAIRG ARMQ 6966 ReQ

32. A boat man can row 36 km in downstream in 4 hours. If the speed of the current
is 3 kmvh, then find in what time will he be able to cover 6 km upstream ?

@641 RIQGN €919Q AQQRER 4 AQI6A 36 Q. 21 AIGAIRG | 0d 69160Q Q& a0
6991 3 @41, Q. 6069 €R60 AAGLA €2 6gI9Q 90QRsa 6 4. 26en aGaIGke 7

8% hours (B) 4 hours (C) 8 hours (D) 6 hours
CRE-2021/C PT:O.
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A. B and C started running in the

8
: : ac long.
3 P int on a circular tract of 12 km 8. /s : > km/h
e ::::‘ :liz:‘:liu:l at ‘lhc same time with speed of _4 kav/h, 3 .k',n/-h‘ J.nd
;} l‘t."\f‘l‘t‘li\‘&‘l\" Then on the starting point, all three will meet uga_llll ‘E“_‘_r . -
B t:élﬁf"{.' 'o"‘{ﬂlﬂ;‘iﬂ Q8 V& Q‘E(Q}‘ A. B v@° C dfliw '-]&H_U.‘o]_ ‘r'ﬁ. &.]F-“?-ﬂ _(qug ﬂ@@_,@g
QaIas 4 6.6. 3 0.0. G 2 @5 CRNEA CAITER | €O6CR ERET ARLLLL acnd
¢ A PQea aCeR ? ‘ A4 Bk
fb&;ﬂ‘sﬂp_‘?_{.(r\} 6 hours (B)A2 hours (C) 3 hours
| *13 How much water be added to 16 litres of milk worth Rs. 6.75 per litre so that the
“” value of the mixture will be Rs. 4.50 per litre ? Jitd o
ve @oq g6 6.75 ¢a aa 2AIeEQ 16 AGA S1GER 6o dlfl AIdIRcm Agaa gy
RCQ 90 4.50 e&l €QQ7 ‘ :
(A) 6 litres (B) 12 litres y litres (D) 10 litres
35. Ratio of present age of Amit and Rakesh is 7:5. Amit will be 36 years old after 8
years. How old Rakesh is now ? 2
260 ¥e° QIERIa Qale @ada AQAIe 7:5 A6e | 8 QF A6Q BF0Q eaq 36 o
6QQ | COER QUCRER QEFIR QA 6R6E ?
(A) 21 years (B) 15 years (C) 28 years CQQ.ZO years
36. A sum of money at simple interest becomes five times in 24 years. The rate of
interest per annum is :
(A6 (B) 182%
©) 205% ' - (D) None of these
6Rlad Y@ ARG AR AR 24 QFEQ 5 P&l QY | 606@ AARIA QIR CIER ?
(A) 163% (B) 18%%
- (©) 202% (D) VARG AMQ 606e peg
37. At what percent per annum a sum of Rs. 500 will amount to Rs. 864 in 3 years, if
the interest is compounded annually ?
m @9;'9@ ge QI9ca 500 Gl 3 eElcq 864 @l 6@9. AF 9dq & Qv QQIQ
g %
(A) 25% B20% (C) 10% (D) 15%
38. Rahul invested 20% more than Bikash. Bikash invested 20% less than Kamal. If

the total sum of their investment is Rs. 8,280, how much amount did Kamal

invest ?
9QI6 A UYR €00 20 2RIG 9B FcRd FER | SAR Tcas! ARG §9Q0! 20
@1 g8 064 @cm | A0 Af6g YRe QI96Q 8,280 ¢@l A P68 *Q1@

. o = e ad b » G
QAR €60 OB G368 @Gl 7 3 : b

(A) Rs. 2,500 (B) Rs. 2,250 LOrRs. 3,000 (D) Rs. 2,750

RE-2021/C Tarary V. Nk
n ner
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A i ' Id at a discount of )% .
' . above the cost price and 1118 50 Al
Ic \ kt‘d 50% above {
39. An lll‘lltlc 1S mar il
What 18 the glﬂﬂ or loss perce ntage

LA X
hoan (B ISHlos (O 10%gain  (DA0% loss
. am i PG ° )
(M.. ;Q G80 neH QI8 @A ANOIG A0@Y! 50 ay@ qg 9Qq 999! 40
g?ﬁ%mm 58 QQIOR | 6060 ORV! 6RO WA @ 87 699 ?

A) 15% Q8 (B) 15% 80 (C) 10% QUG (D) 10% 89
(A) 1S

40. Fill in the missing pumber in the seres Sll 1, 19, 29, -----
& 11. 19, 29, - BR9AQ AQAHS AWIC a8l eq |
-(. 4l (B) 51 (C) 31 (D) 52
PART - 11
GENERAL KNOWLEDGE : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read 'fhe
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple
answers.

#1. The Indian Railways has launched an App to help the passengers. What is the

name of the App ?

(A) Rail Saral Mil Madad

(C) Rail Sahay (D) Rail Seva
QER1A 698 AIPINIES GRUAIN A8 *AZ App A 91 |8 ?
(A) 60 QR (B) 60R A0Q

(C) coR Q1L (D) 69% 629!

42. The world famous Navakalevar of the deities in Lord Jagannath Terhple of Puri
takes place in which year ?

(A) Two consecutive odia month of Aswina
\pﬁm consecutive odia month of Ashadha
(C) Two consecutive odia month of Kartika
(D) Two consecutive odia month of Bhadraba
201 80 99 eapjas AHoca 60q0! AIRER 36988 F00ER9q coa o QU 7
(A) @RI90 632l caI01 Ae A
(B) M196 6F2I 2191 28IQ AIQLQ
(©) 196 6Gal 610l Qe aac

(D) 9196 6321 610! QIQQ AR
CRE-2021/C |
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L |

. ; | i . Bharat Ratna
i ho is the first Non-Indian to receive ihe Bhara
(B) Amartyd Sen

(A)Khan Abdul Ghaffar Khan '
(C) Mother Teresa (D) Nelson Mandela
6RQ J60a1 QINAR gen AIReap alticn ?

(A) IR 2A90R ARQ &R (B) 2neH 64R,
(C) ARQ ce6agl (D) 6ARAA A6AI

up-20217
44. Which country was the champion of Men's FIH Hockey Junior World Cup
(D) Germany

qunum (B) India (C) France ?
606 608 Qa8 VP AR YO QA RaQ §¢ 94 -2021 @ oGae QR
(D) tel[o]

(A) 26680 (B) Q190 (C) &ied

45. For which book Dr. Prativa Ray got Moortidevi Award ?

(A) Punyatoya (B) Chandrabhaga O Chandrakala

(C) Shilapadma
08 gOQI-QIE, 6Ral Qge Al qmﬂ;om QIR aIRgiEn 7.
(A) GEM6QIEY (B) 02016 G 9RaR!

(C) 61949 (D) QAR

ajnaseni

46. Name the India’s first multipurpose Satellite ?
6QE0 QIR gan egAe aage ?
(A) IRNSS-1B BMINSAT-2A
(C) IRS-1A (D) CMS-01

47. The source of energy of the sun is due to
" (B) Chemical Reactions

(A) Collison of Atoms

& Nuclear Fusion ) (D) Nuclear Fission
qa’ 980 ada QI8 6268 _
(A) 0014 YS! (B) QAIGRe 9684y
(C) 24999 0IRQ (D) 4909 da1en

48. Decimal system in India was introduced by :
(B) Medhatithi

(A) Bhaskara
(C) Aryabhatta (D) Brahmagupta
QIQ0sR Qafe 090 QIQl QA 21a QARSI ?
" (A) QIR ‘ (B) 6AdIGel
(Crasiog (D) 9919
CRE-2021/C
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49. Which one of the following Bills must be passed by cach House of the Indian
Parliament separately by special majonty 7

(A) Finance Bill B)€onstitutional Amendment Bill
(C) Ordinary Bill (D) Money Bill
FARSe ANQ CREl AR QIAGIA ACA GEIR QA GOR" QIAEE QQ AMIca
QIqe 6Qel 8gal ?
(A) 280 ) (B) QRIS QGeae anmea
(C) AR §Q (D) o0&t 3R,
50, Which one of the major rivers of Odisha does not have delta at its mouth ?
J}yﬁm Rushikulya (B) The Baitarani
(C) The Mahanadi , (D) The Brahmani
GR4IQ SN A1 AIRG AQ 608 741 ARISER Fealaas I 7
(A) Q8 QA (B) 69908N
(C) AIRIAQ! (D) QIQeN
51. Who is the present Chief Executive Officer of ‘Twitter’ ?
\}Kf Parag Agrawal (B) Ajaypal Singh Banga
(C) Satya Nadella (D) Anshu Jain
QERIR “Twitter” Q Q&4 AGQIRG &Y 7
(A) 9919 AGEIR (B) 2000IQ & o
(C) AN RIceR (D) 2°q 669
52. Among the following which Odia movies jointly won the National Award in the
- 67" National Film Awards ?

(A) Kalira Atita & Sri khetra Sahi Jata

(B) Sala Budhar Badla & Aadim Vichar

(C) Sala budhar badla & Sri khetra Sahi Jata
DS Kalira Atita & Sala Budhar Badla

aoRde g 6d 682 9909 99e 67 0n i, QORIQ AYAA ARe Qe

A, 9o AIREIEA ? ;

(A) QRQ 2916 Ye° ¢1689 AR Q1o

(B) 851 92IQ 20l ¥e° 210 §9IQ

(C) Rl 9eIq 2eql e° gieae aig aie

(D) QIAQ 2010 ¥4° 6pl QIR 90R

33. Which city Government has become the world’s first government to turn
completely paperless ?
A Dubai - (B) Beizing (C) Moscow (D) New York
10 cad AQaq camIa gen egd Glae M AQRINER AR €QIRd 2
(A)QQIQ (B) 6Qaie (C) fea (D) faad
CRE-2021/C _ P.T.0. |
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54. The Amazone Reef is located in which Ocean * 5 an
(B) Arctic O¢

(/ lantic Ocean

(C) Pacific Ocean

afceIn Arced AQIacaea 2080 ? o
(A) BSRIEQ AQIAIR (B) 2I46Q 719 :

(C) 9aI8 AQIAI0Q (D) Q19 qlalel

| hed by which ministry 7

55. The national initiative named ‘Kayakalp® was launc

(A) Ministry of Women and Child Development
BrMinistry of Health and Family Welfare

(C) Ministry of Science and Technology
(D) Ministry of Agriculture & Farmers Welfare .
QYO FINQ QSIS CI0RI Cadl AREIRG QO 21aF] FAIIAR
(A) 9291 G &g aRHIA ASEIREG,
(B) 924 6 9910 QRHIE AREING
(C) fa16 6 998 Y AREING,
(D) 98 6 989 Q8 AREING,

?

56. Which of the following categories of the images of Lord Ganesh is/are found in
the temple of Odisha ?
(A) Nrutya Ganesh (B) Sthanaka Ganesh
(C) Asina Ganesh (D)AIl of the above
FaRde Auig QeelR e ¢0a 9AIQ ARl 6Ada ARQ fIRER codelQ

feq?
(A) 994 G668 (B) 209 G668
(C) 21 26818 (D) Q6018 AQ9a%

57. Who among the following became the first Martyr (Saheed) of Odisha during
British regime ?

(A) Laxman Naik (B) Raghunath Mohanty
(C) Veer Surendra Sai Mee Rajguru
PARGE Aeie 93¢ FIARQIRCR GFAIQ gan 610 Ay Bkq 2
(A) RES 109 (B) 0QRIEl AQIR
(C) Q1 g6aR 4Iv (D) 04 QURQQ
CRE-2021/C
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88. ‘Rengali dam’ is built over which of the following rivers ?

(A) The Baitarani (B) The Rushikulya
\(,) ‘ﬁ;u Brahman (D) 'I"hc Milhi{!‘lildl
mmm o8’ mmm NG CRA P QIR FNIE EQIRR 7
(A) 6008 (B) QEiqaMI
(C) QIgeM (D) AQIAN

5§9. Originating from Chhotanagpur plateau, the river Brahmani enters Odisha in
which district ?

r\yﬁundargarh (B) Bargarh (C) Keonjhar (D) Sambalpur
CRIT FIAgQ QIQQQQ QQ@ 6QI@ QIQEN A0 BRAIR 694 QQGQ gead @eq 7
(A) 9RQQI9 (B) Q99 (C) ca08Q (D) anmael

60. Which of the following sanctuaries in Odisha is also known as “Turtles'
paradise’ ?

(A) Baisipali Wildlife Sanctuary [B¥Gahiramatha Wildlife Sanctuary
(C) Bhitarakanika Wildlife Sanctuary (D) Kuldiha Wildlife Sanctuary
69dIQ AORGe aeaIae AQ “en Qad™ GIeea &Y adde 7

- (A) QIR 9R40I81 ZRRIaeN

(B) AQQN8I QMYGIEN QI8N
(C) Q0QRAR Q1IN QALY

(D) QR6Q R4QIEN AQQQ8N

» The place ‘Inchudi’ in Balasore district is famous for which of the following ?
(A) Gandhiji’s first arrival in Odisha  (B) Scenic beauty

(C) Massacre during freedom struggle (D)’ﬁlt Satyagrah
QUEREQ BRI Q80 AnRde AQ cRadoIR gde ?
(A) AIMRNETR QAN GHEI 2SR

(B) Qnéng, sdloaf
(C) QRS QIR AAAR A6 (D) RQ8 ARvI9Q

62. Which of the following statesmen is associated with Bhadrak district ?
(A) Janaki Ballav Patnaik (B) Nabakrushna Choudhury
(C) Biju Patnaik

D)Br. Harekrushna Mahatab
oo RHQ 60 9916 43 Q0@ Q) QQ r9s ?

(A) Q991 9QQ AgQIaQ (B) 099& cSlaat
(C) 8¢ agRiog . (D) 08 Q6Q§S AQEIQ
63. Which of the following places is known as ‘Biraja Kshetra’ ?
EA)ﬂguuack (B) Bhadrak (C) Jagatsinghpur _SDH'aJP“f
RARGIS AR ol apng “Gal 689" QRIQIN ?
(A) @0Q (B) Q2@ (C)@96E'eqQ (D) Qieqa
CRE-2021/C
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in Kalahanai wra =

lar
64. Which of the following folk dances is most}y PP (D) Ranapa
A Ghumura (B) Ghoda Nacha (C) Chhad ?
oly@ &l @da

A9RG0 A cadl carepet anIQid @qIea @ (D) @§d

(A) e (B) 62101 Q19 (C) 8@ &
ich of the following

65. ‘Huma' in Sambalpur district is well kKnown for wh
ng Temple

( eam

(A) Reservoir
(D) Hot spring

(C) Majestic Waterfall
Armde f1Q anmge dga “gal” ceagad 0ao9 !

(A) 0ROQQ (B) 4§ 749
(C) BTN FROAIP (D) @8099¢

66. Consider the following personalities of Odisha
[. - Justice Ranganath Mishra
. Justice Ananga Kumar Patnaik
[I. Justice Deba Priya Mohapatra
IV. Justice Gopal Ballav Patnaik
Who among the above personalities have be
(A) 11 & IV (B) &1l
©1&1 | DRIV
63610 FRAG 1dq Mg doiaq FaIA
. G010ad aepiel fg
[. 991000 2R6P QAIQ CPRIOR
[11. §01006 c0eda AQIaIg

IV. 601006 ¢6IIReqQ A0RILR
QUCIS Q180 QIR ANQ CRENIEH NS AN J0IRaE Eiem ?

en the Chief Justice of India”

(A) I19Q° IV (B) 1 9e° 11l
(C) 198° I (D) 198° IV
67. Tides are caused by gravitational pull of the :
Mun and Moon on the Earth (B) Moon on the Eanh
(©) Ean.h on the Moon (D) Earth <;n the Sun
QIQIQ AMedeNS 2988 AREQ GaIA 98 QU ?
(A) 207 ¥Q° 90Q Q2! QAR (B) 999 9291 aaga
(C) 0891Q 92 8A6R (D)geva 30l qacq
CRE-2021/C
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8. Dayananda Saraswati founded :

(A) Prathana Sama) (B) Bahujan Sama)
(C) Brahmo Sama) I‘_Ip)wyu Samaj
QUIRR QAT 9'6 9O QQdicR ?
(A) Q¥R aAIR (B) 9Q07 Q7@
(C) QIg QnI@ (D) 21 aniQ
$9. Who among the following died in exile ?
(A) Tatya Tope (B) Nana Saheb
(C) Rani Laxmibai (DyBahadur Shah Zafar
AnRde A QY FQlarea eYeas QG ?
(A) 0152 69160 (B) 919! Q1699
(C) QN RYIR (D) QIRIQ 61 G

70. Which tales are related with the painting and sculptures of Ajanta caves ?
(MrTataka Tales (B) Hitopadesha Tales
(C) Panchatantra Tales (D) Pentamerone Tales
2081 REQ 8Q1 §9eRI 6 AR 629 HIQIeN AANa, ?

(A) QI19Q QIQIen (B) Q60106041 R1Q1é1

(C) 9892 @lQl&n (D) GGQGQGQ'!Q‘ QIQl&N
71. Name the place located at the confluence of Alaknanda and Mandakini rivers.
Mudrapraya'g (B) Devprayag (C) Badrinath (D) Rishikesh
ZRIAFA G ALIRR RQ1IQ F ARQ RIF @6l ?
(A) 9Q QaId (B) 609 944 (C) QQ1Q12 (D) Q8ca4
72. Match list 1 with List II and choose the correct answer from the codes given
below the lists.
List -1 List - 11
(Dance form) (State)
a. Bharatnatyam __ 1. Tamil Nadu
b. Kathak \/9_2 Kerala
c. Kuchipudi - __—3 Andhra Pradesh
d. Mohiniyauan]/ \4. Uttar Pradesh
Codes :
ab cd ab ﬂd
(A)4321 (B)3412
(€)2143 ; Jpﬂ 4@2
CRE-2021/C
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Frcq @40 69108

16 -
QIRQI-1 @ GIAAI-11 4Q 67R @4 @)

A oifal I

GIRe 1

(@6Y) @
a. QAEMINA | QIAnRIg
b, QeQ 2, 6A0R
c. 9099 3. 29964
d. eAIgaaen 4 QARG

abed abcd
(A)4321 (B)B4|2
(C)2143 (D) 1432

73. Which of the following pairs is not correctly matched ?
Revolution  Related to

(A) Blue Poultry

(B) Green Agriculture
(C) Golden Horticulture
(D) White Milk

AAAde Aug caad A0R cald QL8 ?

age Q06
MR a@e of

(B) 99@ o8
(€) Q4 QQ1Ie 98
(D) 649 Q&
74. Which of the following pairs is nof correctly matched ?
States Main Language

_ArNagaland Angami
(B) Sikkim Tibetan
(C) Goa Konkani

(D) Meghalaya Khasi
AnRde AuQ cead ade cald 9L8 ?

QU@ AQUSI
(A) QISIRIG aee
(B) @ar. 560010
(C) 6o cqIe
(D) 69Q1RG, i
CRE-2021/C
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75. The state having shortest coastline in India is :

(A) Odisha (B) West Bengal | (CyGoa (D) Kerala
QAOQ G0N S0Ea 80l QU@
(A) 634l (B) 080Q@ (C) €an (D) 6909

76. Who is the Supreme Commander of the Armed Forces in India ?
M"idc‘“ (B) Vice President

(C) General of Army (D) Defence Minister
QRRER AMMQ Qcdle carial v ?

(A) 8% (B) QOQV8AT

(C) ARCQR! A (D) g8qsl Aa!

77. Which one of the following jurisdiction of the Indian judiciary covers Public
Interest Litigation (PIL) ?

(A) Advisory jurisdiction Mpistolary jurisdiction
- (C) Appellate jurisdiction (D) Original jurisdiction

Q0910 MIBEIRAIa FARTe cagueIn MNQ 030 QeKes AR AIQIR
2968 ?

(A) 096l 685YQIR (B) 30 @914, 659YSIQ
(C) 9FQQIQ 68QNAIR (D) feq caeyeIa

78. Who is the present Director General of World Health Organisation (WHO) ?
\-()‘)‘f edros Adhanom Ghebreyesus (B) Anders Nordstrom

(C) Lee Jong Wook (D) Gro Harlem Brundtland
94, 924 AF0RQ AEAAINQ ARIFETaR 9 ?

(A) 6568IQ AVIERIAN €26960Q9 (B) A4QQ AT68IN
©dcweae (D) 9 Qe 9goRig

79. Which of the following taxes is levied by the Union and collected and
appropriated by the states ?

(A) Estate duties (B) Taxes of newspapers

.Mamp duties (D) Passenger and goods taxes

AARE0 Aug ¢od CMIRd Q1RO ARGIAE QoI Felde R9 9 Q@4 QQQIee QN
2109 99° 9700 Q9 7

(A) 0686 045 . (B) MI86aq AP M@ caaQ

(C) &g 40 (D) Q1638Q 99* 00 SHIeQ
CRE-2021/C PT.0.
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utions is the source of credit for small

80. Which of the following Financial [nstit
industries ?
(A) IFCI (B) NABARD
(C) IDBI @}»SID:BI . ;
5aad6 Awa 06 a¢ AaIaRIQr a°Ql §R4R aIR A RAIEQ ag AT !
(A) 2Q VPQ 2R (B)plQIe
(D) ¥4 2R @ @ AR

(C) R ¢ Q AR
PART =111

ENGLISH : 40 Marks
Instructions : Each question under this part carries ONE mark. Please read the
instriictions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.
There shall be negative marking @ 0.5 mark per question for wrong/multiple
answers.
Instructions for questions No. 81 to 83 :
Fill in the blanks with appropriate prepositions.

81. Beware the pickpockets.

(A) into ' (B) at (C) from L@—ﬂf

82. | prefer death dishonour.

\Lﬂffto (B) in (C) than

83. He could not comply my demand.
(B) against

(D) from

(A) upon
@'fe \(Pf with
84. I could not lay by anything for future due to my family compulsions.

(Choose the correct meaning of the underlined phrase.)

(A) gain (B) plan

Mvc (D) utilise
85. The FZorprrﬁssion decided to abolish the prevailing system 0!'fecruilmcnl
examination.
(Choose the appropriate phrasal verb of the underlined word)
\JMdo away with (B) put forth
(C) deal with (D) deal in

CRE-2021/C
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Instructions for questions No. 86 to 88 :

Find out the sentence which is grammatically correct.

86. (A) He is senior to me by two years.
(B) He is senior than me for two years.
LAY He is senior than me by two years.

(D) He i1s more senior than me by two years,

87. (A) L as well as John were to blame.
\9} I as well as John am to blame.
(C) Tas well as John is to blame.

(D) I'as well as John are o hlu_mc.

88. (A) The lion is a beast of prey.
BT The lion is the beast of prey.
(C) Lion is beast of prey.
(D) Lion is a beast of prey.

89. “Autobiography’ means -
(A) A piece of writing or s

peech in praise of a person
- (B) A person’s own hand-writing
(C) The history of the life of a person

(DA record of one’s life written by himself

90. Happiness or sadness ist

ransitory in human life,
ind onf the correct meaning of the underlined word.)
: short-lived

(B) inevitable (C) permanent

91. A person who lives at the same time with another -
(Substitute one word for the above)
(A) activist (B) adjutant Mntemporary
92. Prevention is better than cure, .
(Choose the correct Part of speech of the underlined word)
(A) adjective (B) adverb

hlm:.qmu by the villagers
(Choose the correct meaning of the underlined phrase)
verely (B) Occasionally

19

(D) pre-fixed

(D) accomplice

WF1Oun

(D) mode rately

ner
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1 in black and white.

4 |
4on . communicated t0 2
94. The statement of the Principal was com ned phrasc) h
(D) speec

| 3 derli
(Choose the correct meaning of the un \.(9]' writing

(A) vain (B) protest -

Instructions for questions No. 95 to 97 : ;
Transform the sentences into Indirect speech.

95. He said to me, “May you be happy.”

@He wished me that you might be happy.
\q;éﬁ said to me that I might be happy.

(C) He said to me that I may be happy.

_Pre wished me that I might be happy.

96. Rama said to me, “Are you going there?”

(A) Rama asked me whether you were going there.
& Rama said to me whether you were going there.

(C) Rama said to me that you were going there.
(D) Rama asked me whether I was going there.

97. The teacher said to me, “You are wrong.”
(A) The teacher told me that he was wrong.

\{BYThe teacher told me that [ was wrong,
(C) The teacher said to me that you were wrong,

(D) The teacher told me that you were wrong.

98. sun rises in east. :
(Fill in the blanks with appropriate Articles,) :
(A) The, an (B) A, the

(C) A, an ,\_/(D) The, the

99. What is the feminine gender of ‘fox’ ?
* (A) heifer BYVixen

(C) bitch (D) ewe

(B) The room has beep repdired.
(D) Repairing is needed for the roon

ner

0 il
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101.

102.

103.

104.

105.

106.

CRE-2021/C

Instructions for questions No, 101 to 105 :

Read the following Passage and answer the questions given below,
Socrates, the gre

‘ at Greek philosopher, st: tyed in prison for thirty days before he
was finally exec

uted. During this period of confinement. his friends and pupils

used to visit him regularly. They always found him in calm and cheerful mood
He talked and taught his pupils as usual, He had no fear of death. One of his
pupils bribed the jailor (o let Socrates escape from the prison. But Socrates
wouldn’t. On the day of execution.
was seen calm and cheerfyl

making them drink deadl

surprise, Socrates took the cup of hemlock and drank it like a glass of water. At
last, Socrates went calmly to death without weeping or complaining.

his friends and pupils were in tears, but he
as before. The Greeks used to execute people by
y poison called ‘hemlock’. To every body's utier

What is the meaning of the underline

ed word in the passage
Mmprisonmcnl | :

(B) depression
(C) unhappiness (D) excitement

How did the friends and pupils

s of Socrates find him in the prison ?
(A) worried and sorrowful (B) dejected and unhappy

(C) angry and agitated Dy€alm and cheerful
How did Socrates behave with his pupils in the prison ?
(A) told his pupils to arrange for his escape
(B) did not behave well with his pupils
talked and taught his pupils as usual
(D) did not talk and teach his pupils

How did the Greeks execute people ? .
(A) by beheading \__LB—)"fyTnaking them drink hemlock
(C) by hanging (D) by beating

How did Socrates face the death ?

(A) crying and shouting

(B) repenting and cursing

(C)edlmly without weeping or complaining

(D) angrily protesting

Instructions for questions No. 106 to 110 : . .
Fill in the blanks with appropriate and correctly spelt words,

Gandhiji’s death was an loss to the country. _
W(A)irreparable  (B) irriparable  (C) imepairable (D) irepuirable
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107. The patient is admitted in hospital for acute ;
i 1arrhoea
(A) diarrhia (B) dyrrhoea (C) diarhoea Mur oe
of similar mistakes.
(D) repeatation

108. The boy was punished for
(A) repitation Mpetilion (C) repitition
in the affidavit will attract penalty.

109. Any or
ek S o ision

(A) omission, comission (B) ommision, commi
a2y s issi 1SS10N

(C) ommission, commission _PY omission, commi

spread like a flash of

110. The terrible news of Indira Gandhi's
lightening across the world. <
caxdinats B) asasination \-99" : ‘
Wassmdtlon (B) g Qt:’ ég‘ §
(C) asassination (D) assasmnation Y
Instructions for questions No. 111 to 115 :
Fill in the blanks with correct form of the verb.

111, A pair of shoes lying in the corner.

y’is (B) am (C) are (D) were
112. It is you who cheated me.
(A) was (B)Mfave (C) is (D) has
113. Neither of the boys won a prize.
(A) was (B) are (C) have (D) has

114, Sixty years a long time for a country to grow and prosper.

(A) were (B) shall \_(C/),s- (D) are

115. The crew rescued from the sunken ship.

(A) were (B) am (CyWas. (D) is

116. The word ‘insolvent’ means

(A) notorious Mnkrupt (C) rich (D) dangerous

7. Morning shows the day.
(Choose the appropriate Odia meaning of the above English proverb)

(A)6aIQ 0IQ1Q, Jpe 0IQIA | (B) YQLQIE Q2R Ql6e |
(©) &gl gaslo an IRl QRA0Q Qleq |
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He was born with a sily
1 Silver SPoon in his mouth

(A) " . | /

(B) He was born with ¢ .
K > was b . - congenital disorder in his mouth.
¢ was born in a rich family

(D) He was born in a poor family
o, QIOUE GIARGER Qiv |

(Translate the above proverb in Odia into English.)

(A) Take care of the pence and the pounds will take care of themselves.
\(ﬁyﬂl got, ill spent.
(C) A penny saved is a penny gained.

(D) As you sOw, SO you reap.

420. Raja Ram Mohan Roy was an atheist.
(Choose the correct meaning of the underlined word.)

(A) believer in God Mn—believer in God
(C) reformer (D) rebel
PART -1V

ODIA : 20 Marks
Bcsaian 1 Y@ QIeQ geaia geal gbe @@ A Ie Ad a8 | Faasie Qa8
ge deeica aegee” @l oce GRI0Iedel QAeAIeE ARG ACRIAT Q@@ 9o
Qg

QA Qaa @0 vaRa age a6 ag ael 0.5 A caed d60ye aaude |

121. 98 69 QREQ 918 |

(A) G0Ia, G899 Mua. dede1r (O el .amm (D) S1QlQ. 98091

122. “QI@eg a0q A6l cGloaae BIe 98 QI @ QIHER CRERIT AQS 6 2R ?

5 (B) 4 (©) (D) 2

123. 0@ @@ Q9 GaREe QIMal get 418 Qa8 !a |
.¢. 15 ole G0REIQ G108
(B) @ends! (C) A8 g (D) @196 A8l

-—--—-——'-"

“Ql G
(A) CRIQQ €661

124, “gql AIQE@ G119
(A) 2qaula A L

gy QIF " CAIRAIENA el @8 ?
(B) Q6% 6% Q8 QR

Qe @@ Wﬁs\ CoeR 26Q 216a PIF

PoTa!
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125. “A0QQéNQ” §oq 2] o 2 (8) 012l 466 QQ;QIGGIGQ g

(A)QIQ! 28¢1Q 04 QY AIF oId
(©02 gaqu e (D) Q12! 768 adl Q9
. QQIaNv ?
126. 04 G6Q §9Q 606l QIGGN AlaRI eAUEIY, 01§ A°AIFIER @6 _(Dypost-mortem
(A) post-natal (B) post-nuptial ~ (C) post-P ki
127. QAREG 6oq a0F e cFcoda a0 96l 7 (D) @aia
(A) GRIdg (B) aRq o1l

128. GARGE 60Q QG Yo 6Ge Qe 26e |
(AVAERIe cgenca el aIg ofaidl AIF |
(B) 20910 QAR 62 AIQIY A6Q, 01 90 99 @LIEIY |
(©) &R AIges dar ecel @Ie 48 | $
(D) 28I 6ac06a6r Q6a AQER, 6a696a6R A6R QOR AEIR |

129. 9 4G QIg |
(A) QIdéyel Wq ©)Fel . (D)6dlaniol

130. Q@1 §Q “Inhabitable” Q 2¢] @ ?
(A) 9Q Gio6q Eol 6a9a
(B) 69606960 QI 6AIGY © 6R60696H QIE 26aleN
O eRal cana
(D) Q@4I 2ealey

131, §Q-g04R &el caIdd Qg |
(A)Q0d-90Q  (B) @10R-01g  (C) a¢l-apel _(D)40-aI6Iq

132. 604 ARG 2AQIA QRILRINIAF CIR GR& ?
[(A)reqifaig (B) QIgReIQ C eaadae (D) aAglelge

8. (133-137) @7Ade 2g6e0d 0@ ana 62 |

290 va gaersa 2afIeelg e el 988 6ace gQiaig AQesR € oIl
SQIRaIQRIR; Qer AREY ARENE ARIN6R 0GR GRIaR 22MIRel 930IAE | 36618 @6
R €08Q €A BAAINGIA CIR 967 @9 CRIR CQIR GIAG | 604 Qa0I A 9f
Q98 19Ql 699% a9y ARy Gosa 060, QI - Qg G 6Q4-60¢ AaMEa FIaM
QQ0IAA | FQseR AITeRts ceadiel “G4 aaniag) WA 9099” ¢q GG )
QIg 96g8d oQ vad Fedeq @afe cQiagd U0 ARRQIRE aiie” @ ag
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PART -V
COMPUTER : 40 Marks

: 1 » ' T ol Tl e
Instructions : Each question under this part carries ONE mark. Please read .h‘
instructions carefully and answer the questions by selecting the most approp? late
answers out of the multiple answers given below each as A, B, C&D.

There shall be negative marking @ (.5 mark per question for wrong/multiple
answers.

141.  Which platform can you use for online meeting ?

(A) Microsoft Teams (B) Google Meet

(C) Zoom (D)-ATl of the above
142, The crime of stealing a password is called :

(A) Browsing "("Bfgpoofing (C) Spooling (D) Surfing
143. WAN stands for a

(A) Wide Array Net (B) Wireless Area Network
(C) Wired Area Network \ _(D}*Vifide Area Network
144. Webpages are written using
\'(}yHTML (B) URL (C) FTP (D) HTTP
145. Unsolicited e-mail is called a __
(A) Newsgroup  (B) Usenet Wm (D) Backbane
146.  Which facility can you use in MS Word to merge and print multiple documents ?
(A) Print Preview By Mail Merge
(C) Print Merge (D) None of the above
147. What programme is used in MS Word to check the spellings ?
(A) Outlook Express ‘_(/BLSpellchcck
(C) Speller (D) None of above
148. In MS - Word every command is available in :
y’Menu (B) Software (C) Printer (D) Letter
149. Editing a document consists of reading through the document you've created,
then
Correcting any errors (B) Saving it
(C) Printing it (D) Deleting it
150. In word, you can use Word Art to :
Format Text (B) Save Text .
(C) Make Copies (D) Delete Text
CRE-2021/C
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selected 0 print first §

, ; nds should be
151, Which among the following print commands she

pages of document :
(A) Print All (BpProm_to_

C) Page Setup (D) Page Control
(C) Page

152.  What is the default font in MS Word ?
(B) Gothic Bold

_(ArCalibri(Body) '
(C) Arial (D} Times New Roman

153. One cell format can be copied to another cell by using -
. » [ £ i I'
(A) Format Checking ormat Painte
(C) Format Showing (D) Format Setting

154. In Excel, each sheet in a workbook is displayed as : o thesd
one ;
(A) Arrow (B) Marker \EQ/Tab - (D)

155.  What do you use to create a chart in Excel 7
(A) Data Wizard (B) Excel Wizard

(C) Pie Wizard \JD')’Charl Wizard

o o
156. In a spreadsheet, which button do you click to add up a series of nurpbcrs .
(B) The total button

(A) The quick total button
(D) The Formula button

CxThe AutoSum button

157.  Which function is use to display the current date and time in a cell ?
(A) Day (B) Current (C) Today ._g)fNow

158. Which function is used to join two cells in Excel ?
(A) Wrap Text (B) Align

(C) Join Cells \Q,W!Erge & Centre

159. In Excel, Columns are labelled as :

(A) 1,23... (B) 5A1,$BS2. (QABC... (D) Al, A2, A3..

160. How many sheets are there, by default, when we create a new Excel file ?

3 By €L (D) 2

161, displays each slide of the PPT as a thumbnail and is used to re-

arrange them. .
(A) Slide Design  (B) Slide Display  (C) Slide Show W
1de Sorter
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462. Which shorteu key is used to exit from the slideshow ?
(A) Alt \‘/lwsc (C) Enter (D) Shaft
163. Which file format can be added to a PowerPoint show ?
(A) .wav (B) .jpg (C) .gif NSPTAll of these
164.

Which of the following is not one of PowerPoint view ?

AAX) Outline View

(B) Slide View
(C) Slide Show View

(D) Presentation View

165. In PowerPoint presentation -

(A) Sound clips can be inserted but not movie clips

(B) Movie clips can be inserted but not sound clips
(C) Both cannot be inserted
Both can be inserted

166. The slide that is used to introduce a topic and set the tone for the presentation is

called the :
(A) Bullet Slide (B) Title Slide
\9)4” able Slide (D) Graph Slide
167. What is the default page setup orientation of slide in Power Point ?
(A) Portrait _(ByTandscape
(C) Vertical “

(D) None of these

168. Power Point Presentations are widely used as :
(A) Communication of planning (B) Project Presentation by students

(C) Note Outline for teachers }_(D&’All of these

169. What is the best way to create another copy of a slide ?

(A) Redo everything on the new slide that you had done on the previous shde
Mrom Insert Menu choose Duplicate Slide
(C) Click the slide, Press Ctrl + A and paste in new slide

(D) None of these
170. is processed by the computer into information.
Data (B) Output
(C) Processor (D) Numbers )
i PTO
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171. Computer Virus is a:
(A) Bacteria (B) Freeware (C) Hardware

(D) Soltware

172. What is Backup ?
(A) Access data from tape
(B) Connection of one network to more component

(C) Filter an old data from new data it
ource to other destination

MP)‘ to save a data from original s

What is called the starting up on operating system ?
(A) Starting Moting (C) Entering (D) Formatting

What is the shortcut key for Refresh ?
(D) F3

WA (B) F4 () F2
an reset it using

175. If the displayed system time and date is wrong, you €
(A) Calender (B) Write File (C) Write Mlc of these

ions to shutdown. Which 18 suitable at

173.

174.

he end ©

176. Windows displays various opt

day ?
(A) Hibernate (B) Restart yhut Down (D) Sleep
177. The two kinds of main memory in a computer are :
(A) Soft Disk and Hard Disk (B) Cache and Virtual
. (DyPfimary and Secondary

(C) Direct and Sequential
Which of these programs will you choose to write a letter to the head of a

178.
institution ?
(A) Spreadsheet : (B) Graphic Processor
(C) Notepad : \Mord Processor

179. VIRUS stands for :
(A) Vital Information Resource Under System

(B) Virus Information Resource Under Siege
Mal Information Resources Under Siege
(D) Very Important Resource Under Siege

180. What js the full form of e-mail ?
( tronic Mail
Electric Mail

(B) Electromagnetic Mail
(D) None of these
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